Problem set 4
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Use the triangle above to answer questions with answers below.

A) 0.5 B) 0.6   C) 0.75   D) 0.8   E  1.33

1) tan theta =

2) sin theta =

3) cos phi =

------------------------------------------------------------------------------------------------------------

2)  Use this diagram to answer the following with answers of A) 80 degrees  B) 100 degrees  C) 120 degrees   D) 190 degrees   E) 200 degrees


                                               < parallel lines >


                                                    gamma

                                  alpha    beta                  ξ     ε

                                80º

Alpha =  _______________

Beta = _______________

Gamma =  ______________

ξ  = _________________

ε = _______________






